
Y2 – Autumn – Block 2 – Step 6 – Add and subtract 1s Answers

Question Answer

1
a) Jack has 7 cookies now.
b) Amir has 3 cookies now.

2

a)

b)

c)

3

a) 43
b) 44
c) 45
d) 42

4

a) 15
b) 23
c) 55
d) 62
e) 18
f) 1
g) 1
h) 88

5

a) 16
b) 25
c) 58
d) 66
e) 17
f) 2
g) 7
h) 86

6

a) true
b) false
When two numbers are added together, the order of the numbers does not matter. When 
one number is subtracted from another number, the order of the numbers does matter.

22 24 25 26 27 28

46 44 43 42 41 40

1 2 3 4 6 7 8 9


